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The Good, The Neutral,   

and The Donkeys 

by Andy Hung, Brisbane/

Perth 

We all know that bridge can be 

a very unforgiving game. One 

wrong bid (or pass!) or one 

wrong lead can spell the defeat 

of a hand. However, the one 

time it works, is the rush that we 

all come back for over and over. 

Come inside my mind and wit-

ness the highs and lows from 

the Weekend Swiss Pairs.  

You hold:  

]Q3, [AQJ983, }---, {KQ832,  

2nd seat not vulnerable versus. 

vulnerable.  

You hear pass on your right, you open 1[, LHO 

doubles, partner redoubles (showing 10+ HCP) 

and RHO passes.  

You have a very distributional hand and expect 

the opponents to run to diamonds, but your agree-

ment is if you bid 2{ now, that would imply a dis-

tributional and a minimum hand (picture ]xx, 

[KQJTx, }x, {KQxxx, an offensive minimum).  

As expected, your LHO runs to 2} and this is 

passed back to you. What do you do? (If you dou-

ble, or had partner doubled, this would be for pen-

alties.) 

Whilst 3{ now would im-

ply an OK hand, it 

doesn’t really describe 

this hand to the extent of 

a “6-5 with a void” type of 

hand.  

I thought about bidding 

3} (cuebid) followed by  

4{, which would de-

scribe a good hand, but 

after a bit of considera-

tion, I chose a jump to    

4{. My partner, appear-

ing to be on the same 

train as me, comes back 

with 5[!  

What does that mean or 

ask for, you might ask? 

I’m not sure either, but I 

would kick partner off my train if he intended it as 

a heart void with support for clubs (Exclusion Key 

Card Blackwood)!  

For a moment, you might flirt with a potential 

grand slam with a 6} bid (first round control with 

grand slam interest), but if partner had something 

like ]AKxx, [Kxx, }Qxxx, {Ax, grand slam would 

be a good shot, though a bad break or two can 

spell defeat.  

However, that would not leave many high cards 

for the opponent who made a takeout double, so 

partner will have a little less, thus you settle        

for 6[.  

Andy Hung 

mailto:sleksix@gmail.com
http://www.bridgeaustralia.org/resultslistbyheadevent.asp?umbid=347
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The full deal: 

Board 32, West deals, EW vulnerable 

     ] Q 3 

     [ A Q J 9 8 3 

     } --- 

     { K Q 8 3 2 

] 9 6 4      ] 10 8 7 2 

[ 7 2       [ K 6 

} 10 8 6 2      } A K J 9 7 

{ 10 9 6 4              { J 5 

     ] A K J 5 

     [ 10 5 4 

     } Q 5 4 3 

     { A 7 

Partner visualised our hand to be at least a 6-5 

shape and most likely a diamond singleton or a 

void, and intended 5[ as slam invitational. Put 

this in the good book. 

Try this next hand, a declarer play problem: 

North deals, nil vulnerable  

`     ] Q J 10 9 

     [ K Q 5 2 

     } 6 4 

     { A 4 3 

 

 

 

     ] 8 6 

     [ J 7 4 

     } A K 2 

     { K J 10 9 6 

West   North   East   South 

    1}1   1[    2{ 

pass   2NT   pass   3NT 

all pass 

1. Precision, 2+ diamonds, 10-15 

Playing in 3NT by North, East leads }7 (fourth 

best, or second highest from bad suits).  

What do you do? 

This hand is obviously all about the clubs. In a 

vacuum with no other information to go by, the 

percentage play in the club suit is to cash {A first, 

then low to the jack, repeating the finesse if nec-

essary. However, the auction and the lead can 

sometimes contain a lot of information. 

Here, East has 5-6 hearts (probably five). }7 

could be fourth best from }Q1087, or if it’s from a 

bad suit, maybe from a four-card suit like }97xx 

(from a three-card suit is possible too, but it would 

be highly unlikely).  

Given that West didn’t bid 2], East is also likely 

to hold 2-3 spades (probably not four, else East 

may have tried a spade lead).  

Adding all that up, West appears to be the one 

with the club length, and whoever has length is 

the one that’s likely to hold any missing honour(s) 

there. Playing {K then finesse with {J would gain 

if East has a singleton queen, but running {J first 

is necessary if clubs are 4-1. If clubs are 3-2, then 

both plays are equal.  

Going with the percentage line, I tried running {J: 

`      ] Q J 10 9 

      [ K Q 5 2 

      } 6 4 

      { A 4 3 

] 7 5 3 2        ] A K 4 

[ A          [ 10 9 8 6 3 

} Q J 10 8         } 9 7 5 3 

{ 8 7 5 2             { Q 

      ] 8 6 

      [ J 7 4 

      } A K 2 

      { K J 10 9 6 

Mixed Swiss Pairs was won by Tania 

Lloyd—Hugh Grosvenor (at rear right) 
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I certainly felt like both!  

Try this next hand.  

You hold ]AJ75, [K852, }AK64, {10, second 

seat all vulnerable, RHO opens 1{.  

You make the obvious double, your LHO bids     

1[, partner 2}, and RHO makes a support dou-

ble showing three-card heart support. What now? 

I thought my hand was too good for a competitive 

raise to 3}, and wanting to keep 3NT in the pic-

ture (partner may have ]Kxx, [xx, }Qxxxx, 

{KQx ... I can dream!), I redoubled to show a 

good hand.  

LHO bids 2[, and partner unexpectedly bids 2], 

passed to you. What do you do? 

This was the full hand: 

Board 36, West deals, all vulnerable 

      ] A J 7 5 

      [ K 8 5 2 

      } A K 6 4 

      { 10 

] K Q 6         ] 9 2 

[ 7 4 3         [ A Q J 9 6 

} 8 2           } 9 3 

{ A Q 5 3 2            { 9 7 6 4 

      ] 10 8 4 3 

      [ 10 

      } Q J 10 7 5 

      { K J 8 

Thinking partner was showing a three-card spade 

suit to try to get to a 4-3 Moysian game (since he 

didn’t bid spades the first time around), I went 

back to diamonds and eventually settled in 5}, 

which was not a success.  

I will let you decide who the donkey is on this 

hand, but rest assured the donkeys have agreed 

on what to do next time if this comes up again! 

Here is one final tester hand. You are East, de-

fending 2] on an auction where South opens 

1NT (15-17) and North transfers to spades: 

West   North    East   South 

             1NT   

pass   2[1    pass    2] 

all pass 

1.Transfer to spades 

8. VISION 

South deals, all vulnerable 

      NORTH    

   ] Q J 2 

   [ 7 6 4 

   } Q J 8 

   { 9 6 5 4 

 

 

 
      SOUTH 

   ] A 

   [ A K Q J 8 

   } A K 9 

   { K 8 7 2 

 

West North East South 

         2{ 

pass  2} pass  2[ 

pass  2NT pass 3{ 

pass 4[ all pass  

 

West leads {3 to East’s {A and {Q is returned.  

When you cover this with {K West ruffs with [3 

and exits with [10 to dummy’s [4, East’s [2 and 

your [J. Can you see any way to make 10 tricks? 

 
Tim Bourke’s daily 

Test Your Play problems 

Solutions overleaf 

I was right that clubs were indeed 4-1, but I re-

ceived -8 IMPs (instead of +5, a difference of 13) 

for my efforts. Was I unlucky, or a donkey?  
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SOLUTION to Tim Bourke’s Test Your Play 

While it may be difficult to see, there is a simple 

plan to make 10 tricks – provided West has ]K!. 

Suppose the full deal is similar to this. 

   ] Q J 2 

   [ 7 6 4 

   } Q J 8 

   { 9 6 5 4 

 ] K 10 7 6    ] 9 8 5 4 3 

 [ 10 9 5 3    [ 2 

 } 6 4 3 2    } 10 7 5 

 { 3    { A Q J 10 

   ] A 

   [ A K Q J 8 

   } A K 9 

   { K 8 7 2 

After winning [J at trick three, draw West’s re-

maining trumps with [A and [K. Next, cash ]A 

then play }A followed by }9 to dummy’s }J. Now 

comes the clever part of the plan: lead ]J from 

dummy and jettison }K from your hand. On this 

layout West can do no better than win ]K and put 

you back in dummy with either a spade or dia-

mond, thereby allowing you to discard your two 

losing clubs on dummy’s ]Q and }Q. 

You note that it will not help West to duck ]Q for 

that will be your sixth trick and then }Q plus your 

three remaining trumps will bring your contract 

home. 

    N 
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What now? And what’s your plan? 

Playing IMPs scoring, the first assumption you 

must make is that the contract can be beaten. On 

this hand, you must try to find six tricks if possible. 

You have two heart tricks, one diamond, one 

spade that you can see so far.  

Partner’s big gamble on [Qx lead into the 1NT 

opener suggests that he should have a highish 

spade given he should have around 8-10 HCP. 

Putting everything together, you can now visualise 

a very pleasurable defence.  

This was the full hand: 

     ] J 9 6 5 4 3 

     [ 6 4 2 

     } Q 10 5 

     { 8 

] Q 7 2         ] A 8 

[ Q 5         [ K J 9 7 

} 7 6 3 2         } A 9 

{ K J 10 4             { 9 7 6 5 2 

      ] K 10 

      [ A 10 8 3 

      } K J 8 4 

      { A Q 3 

I returned a diamond won by dummy, and when 

declarer called for a spade, I rose ]A. Instead of 

cashing [K, I returned [9, forcing partner to ruff, 

then he gave me a diamond ruff, and a fourth 

heart promoted his ]Q as the setting trick. This is 

the reason we keep coming back to the game we 

all love and hate.  

Ed: You will note that Andy writes Brisbane/Perth 

as his place of residence. He rotates between the 

two cities. In Perth he is giving lessons at WABC, 

where he advocates beginners learn in four dis-

tinct stages: Beginner, Advanced Beginner,   

Rookies and Advanced Rookies. 

Ed: For more interesting problems, look out for 

Andy’s “Free Bridge Quiz” booklet to take at the 

front desk. Andy will be giving out two different 

sets of booklets throughout the week, so grab one 

while you can! 
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Board 7, South deals, all vulnerable 

     ] J 9 6 5 4 3 

     [ 6 4 2 

     } Q 10 5 

     { 8 

] Q 7 2         ] A 8 

[ Q 5         [ K J 9 7 

} 7 6 3 2         } A 9 

{ K J 10 4             { 9 7 6 5 2 

     ] K 10 

     [ A 10 8 3 

     } K J 8 4 

     { A Q 3 

Partner leads [Q: [2, [7, [3 (you play low en-

courage). Trick 2: [5, [4, [J, [A, Trick 3: }4, }

2, }10, }A. 



5  Tuesday, January 17 

 

    N 
W     E 
     S 
 

How would you defend? 

Problem 7 

South deals, NS vulnerable 

 ] 8 5 3 

 [ K 5 3 

 } A 7 3 2 

 { A 10 9 

] A Q 9 4 2       

[ 10 4         

} J 10 9 6        

{ K 3               

West   North   East   South 

            1NT 

2]2   3NT   all pass 

1. 13-15 

2. 5+ spades, 4+ minor 

 

West leads ]2 (attitude leads, low-like): three – ten 

– jack. South continues with {2: three – ace – four, 

followed by {10: five – six – king. What would you 

play as West at trick 4? Will it help if you and part-

ner are playing ‘Reverse Smith Peters’. 

First match overenthusiasm 

The SWPT leads to the NOT after 12 rounds of rig-

orous play, and the first round contained a variety 

of hands, and some high-scoring matches. To bid a 

slam, let alone a grand slam in the first round re-

quires a near certain expectation of success.  

Board 6 brought some pairs down to earth, includ-

ing some of the top teams. Only three pairs suc-

ceeded in 6[ NS on this deal: 

Board 6, East deals, EW vulnerable 

`      ] J 4 

      [ K 10 7 4 

      } K Q 6 3 

      { A K 9 

] 10 8 5 3     ] K Q 7 

[ 9 8 6      [ 5 2 

} ---        } J 10 9 7 4 

{ Q 10 8 5 4 2   { J 7 2 

      ] A 9 6 2 

      [ A Q J 3 

      } A 8 5 2 

      { 6 

Ron Klinger, declarer from the North seat re-

ceived ]K opening lead. The slam is a good one, 

superficially requiring diamonds to break and a club 

ruff in the South hand. 

Ron won ]A and played a second spade. This play 

often persuades defenders to switch to trumps, and 

that’s what happened here. 

Ron took the trump return in dummy, ruffed a 

spade, crossed to hand with a trump and ruffed 

dummy’s last spade. 

The dummy reversal 

meant that Ron 

scored four trumps in 

dummy, ]A and two 

spade ruffs, three dia-

monds and two clubs, 

12 tricks. 

Is there an advantage 

in ducking ]A at trick 

one, intending to win 

the second spade and 

go about the same 

exercise in play? 

 

Double Dummy Problem 6 

   ] A K 6 

   [ K 5 

   } —- 

   { Q 5 

] Q J 7      ] 10 9 8 

[ 6      [ —- 

} J      } 10 6 

{ J 6      { 10 9  

   ] 5 

   [ Q J 

   } Q 9 8 

   { 7 

South to lead at notrumps - NS to win all seven 

tricks. Solution in tomorrow’s bulletin. This problem 

is taken from A Compendium of Double Dummy 

Problems by Hugh Darwen, available from       

The Bridge Shop here. 

    N 
W     E 
     S 

https://www.bridgeshop.com.au/book/topic/problems-and-quizzes.html
https://www.bridgeshop.com.au/
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How would you defend? 

Problem 7 solution 

This deal arose in the 2011 Coffs Coast Swiss 

Pairs: 

 ] 8 5 3 

 [ K 5 3 

 } A 7 3 2 

 { A 10 9 

] A Q 9 4 2     ] 10 7 6 

[ 10 4       [ Q J 9 7 6 

} J 10 9 6       } Q 8 

{ K 3             { J 5 4 

 ] K J 

 [ A 8 2 

 } K 5 4 

 { Q 8 7 6 2 

 

After the auction given, West led a low spade 

against 3NT. South captured East’s ten and 

played a club to the ace and ran {10 to West’s 

{K. To defeat 3NT West has to play {A, dropping 

{K and collecting four spade tricks. How can 

West tell what to do?  

One approach is ‘Reverse Smith Peters’. When 

declarer tackles a new suit, East plays the lowest 

card to encourage a continuation of the suit led. 

Here declarer tackled clubs at trick 2. East played 

{4 and then {5, lowest each time. To discourage 

spades, East would play high-low in clubs. As 

West is known to have five spades, East should 

encourage spades by playing {4, then {5. If 

West is paying attention, West will play {A next. 

    N 
W     E 
     S 

Here, a duck might allow West to discourage 

heavily in spades, desperately trying to get part-

ner to shift. West perhaps missed an opportunity 

against Ron, as ]10 was not the card contributed 

at trick one or trick two. 

As you can see, Ron’s line of play meant he 

could cope with diamonds not breaking—a far-

sighted line, and the swing was well-deserved. 

There were 12 pairs at the seven-level, four in a 

hopeless 7NT. 40 were in the heart slam, some 

doubled, while 17 pairs were in game. 

 

FREQUENCIES FOR BOARD 6 

Contract Result Score Frequency 

6[ by NS = 980 1 

6[ by NS = 980 2 

5[ by NS = 450 1 

4[ by NS +1 450 1 

4[ by NS +1 450 14 

3NT by NS +1 430 1 

7[ by NS -1 -50 1 

6[ by NS -1 -50 4 

6[ by NS -1 -50 23 

7NT by NS -2 -100 1 

6[ by NS -2 -100 1 

7[ by NS -2 -100 4 

6} by NS -2 -100 2 

6[X by NS -1 -100 11 

7NT by NS -3 -150 1 

7NT by NS -3 -150 2 

6}X by NS -2 -300 1 

7[X by NS -2 -300 1 

7}X by NS -3 -500 1 

7NTX by NS -3 -500 1 

Solution to double dummy problem 5 

South plays {2 to the ace, but what does East 

discard ? If a diamond, declarer plays }Q and 

East once again has no idle card. If a heart, then 

declarer cashes [A and East faces the same 

problem. 
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At my grandmother’s knee 

Andy Braithwaite showed me a deal from the   

Seniors in which he found a great lead.  

Today he had a companion hand to go with it. 

You hold ]105, [J762, }1083, {A1073 

You are on lead against 4[, with very little infor-

mation at your fingertips. North has opened 1[, 

you pass, South bids 2[, and with no opposition 

from partner, North rebids 4[. 

You have a choice of unappetising leads. Let’s go 

through them. A trump lead looks to give up a trick 

immediately. A spade lead (unsupported 10) could 

easily blow a trick there, while a club lead, either 

from an unsupported ace, or underleading an ace 

has been drummed into you as a no-no since you 

were a boy. 

So it has to 

be a dia-

mond? 

Andy se-

lected }3 

as his 

opening 

salvo. 

Round 3, Board 15, South deals, NS vulnerable 

      ] K 4 3 

      [ A Q 10 9 4 

      } A Q 5 2 

      { K 

] Q 7 6 2        ] 10 5 

[ 5          [ J 7 6 2 

} K 7 6          } 10 8 3 

{ Q J 9 6 5             { A 10 7 3 

      ] A J 9 8 

      [ K 8 3 

      } J 9 4 

      { 8 4 2 

This was spectacularly unsuccessful. Declarer put 

in }9 and Andy had eliminated declarer’s prob-

lems in that suit. 

Brooding about this hand, Andy berated himself 

for failing to lead {A, the only lead to give declarer 

problems. Hadn’t he also been taught to lead from 

length holding length in trumps? 

    N 
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The next match also gave Andy a headache about 

his opening salvo. This time he held ]872, 

[A10432, }AQ6, {63 

North had opened a 2+ club in fourth seat. Andy 

overcalled 1[, and LHO bid 2[, a limit raise in 

clubs. 

This time Andy reasoned: "There are six clubs on 

my left (for the limit raise of a 2+ club opening) and 

partner has not doubled 2[ to encourage a heart 

lead. A spade lead looks futile, so I’m going with a 

diamond. I didn’t lead {A last time I was in this 

predicament (the aforementioned hand), so I’m 

going to lay down }A.” 

Round 4, Board 10, East deals, all vulnerable 

      ] A Q J 4 

      [ K J 9 8 

      } K 

      { A J 10 5 

] 6 5 3          ] 8 7 2 

[ 6 5           [ A 10 4 3 2 

} J 9 8 7 5 4 3        } A Q 6 

{ 9                { 6 3 

      ] K 10 9 

      [ Q 7 

      } 10 2 

      { K Q 8 7 4 2 

The defence took the first eight tricks, +400. At 

scoreup, Andy’s teammates said “You’ve got the 

wrong vulnerability, it’s -600.  

“No”, said Andy and Arjuna, “it’s plus 400, down 

four in 3NT”. 

Andy Braithwaite 
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What would 

You Open?  

by Joan Butts 

From the ABF 

Mixed Team 

Playoff,            

December 2022 

 

 

Problem 4.  

Set 4 quarter finals 

Board 19, South deals, EW vulnerable 

     ] 10 9 6 3 

     [ 8 

     } 10 

     { A K Q 8 6 5 2 

What’s the best opening bid? 3{ is wimpy, 3NT 

better, and 4{ or 5{ seem best. 

What happened? 

The full hand: 

`     ] K 7 2 

     [ 9 6 3 

     } 8 5 4 2 

     { 9 4 3 

] A Q 5        ] J 8 4 

[ Q 10 7       [ A K J 5 4 2 

} A Q 9 3        } K J 7 6 

{ J 10 7             { --- 

     ] 10 9 6 3 

     [ 8 

     } 10 

     { A K Q 8 6 5 2 

As you can see, 7} and 6[ are possible.  

The playoff results were:  

6[ (E) - 1430  

6[ (E) - 1430  

5{X (S) -300  

4[ (W) - 680  

My view: I think 5{ is the best opening. West will 

probably double for takeout, and East will bid 6[. 

At our table, I’m embarrassed to say I chose the 

worst (wimpy) opening of 3{ and then broke a car-

dinal rule of preemptive bidding by coming in with 

5{ over the opponents’ 4[. Strangely enough I was 

left there doubled! (a totally undeserved good re-

sult).  

Please send your opinion and a suggested bidding 

sequence to me (Joan Butts) via Stephen at 

sleksix@gmail.com 

Julia Hoffman models a Play 

Bridge Bridge TV bag 

mailto:sleksix@gmail.com
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